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No. of Questions : 120
WYl ! HEAT : 120
Time : 2 Hours Full Marks : 360
a9y : 2 gUe yurfE : 360

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted

question.

ST U9l B HH & uAe &1 | g weq 3 ()
Si® B T HAF Tad IO G gF 9F S AR
Sedh ARG 999 W WS YT B |

(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.

Az it Jwfeqs 3T el IAY & fAese wdia 8, a Fehean
el 397 T

01. Which one of the following is in right order ?
(1) Samhita-Aranyaka-Brahmana-upanisad
(2] Samhita-Brahmana-Aranyaka-upanisad
(3) Brahmana-Aranyaka-Samhiti-upanisad

(4}  Aranvaka-Samhita-Brahmana-upanisad

3 P.T.O.
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02.

03.

FefferiEad o enld-4] 48l &y H & 7

(1) HiEd-AvgH-aigHv-34i-ag

(2) dear-arEq9- A vgEH-34i-4s
(3) ATEHOI-AvgFH-Fied-3u-1g
(4] HATFH-HRAT-ATEHT-FUIE

What is the name of the priest who addresses hymns in praise of the

gods to invoke their presence in the sacrifice ?
(1) Hota (2) Udgata

(2] Adhvarvu (4) Brahma

75§ WfA-HA0 & 2 g1l B A FIA arel e AT A
SE A

(1) & (2) I

(3) ey (4) @EmT

Which Upanisad explains the Atman with the help of five sheaths 2
{1) Isavasyvopanisad (2) Kathopanisad

(3} Mandokvopanisad (4) Taittirvopanisad

fRd 3ufaue ¥ iend #1 SAveT gSEEIel R F T e

(1) ZsmErergiug (2} MU
(3) HOZHEAAEE (4} dfcdEmtag
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04. Which Upanisad gives a description of the dialogue between Naciketa

05.

06.

and Yamaraja ?
(1) Mundaka - Upanisad (2) Mandikva - Upanisad

(3) Katha - Upanisad (4) Kena - Upanisad

Afdr UF FUOST B Har @ avie fhe utug § fear mn @ 7

(1) Hus& IIHE (2) HIZH IUMTEE
(3) ®He IUFNY (4) @ IulE

Which one of the following is not a Vedanga ?

(1) Kalpa (2) Vvakarana
(3) Nirukta (4) Artha
srefifeiaa & SHiF-61 uF JZeT AEl B 7

(1} =Hey (2) AR
(3) FreF (4) aret

Srimadbhagavadgita is a part of this book :

1) Ramayana (2) Mahabharata
(3) Sivapurana (4} Anugita
g fFe Her &1 W g 7

(1) OHEY (2) HerTHArd

3)  ferEgR (4) TIET

o

5 P.T.O.
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07. According to which system of philosophy - 'Death itself is liberation

08,

09.

(1) Lokavata (2) Jaina
(3) Yoga (4) Madhyvamika Sunvavada

-

| @i 99 & AgAT geg' @ " T 7
(1) TR (2) T4
(3) 4T (4) HIEHE IS

7,

How muany climments are aduitted by ihe Cirvakas ?
(1) Five (2) Four
{3) Nine (4] Two

=

=aieh fFhad a9 =T Hedl & ¢

(1) 9rd (2) =7
(3) 0 (4) =

Pudgala in the Jaina Philosophy stands for :

(1) Soul (2) Matter
(3) Karma (4] God

3z H IR @ 9§
(1) ST (2) wiEad

(3) &4 (4) 997

?
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10. What is the meaning of 'dharma’ in Jaina philosophy ?

11,

12.

(1) Condition of movement (2) Condition of rest

(3] Creator of movement (4) Creator of rest

N =of H ‘ol o ared @ 7
(1) 7fqd # Herds (2) Fefaq § @eEs
(3) T &1 IEH (4) Refy @1 SEREE

Which one of the following is not included in the 'three jeweles' of

Jainism ?
(1) Right faith (2) Right knowledge
{3) Right speech (4) Right conduct

Frmfafad & 4 BF-a1 Oa § o § gaied a8 8 7
(1) T &9+ (2) T=FH F;H
(3) €= drp (4) T=HR =MA

Which system of philosophy has propounded Anekantavada ?
(1) Jaina (2) Nyaya

(3) Sankhya (4) Advaita Vedanta

e anaife = A STEroaE S S B R 7

(1) o (2) ™I

(3) HiE (4) ITad FE

7 P.T.O.
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13. Which of the following is a variety of mediate knowledge according to

Jainism ?
(1)  Avadhi - jiina (2) Mati- jnana

(3) Manahparvava - jhana (4] Kevala - jhana

S 29 & ST wdifefag  F-ar 98 @ 0w TR E

r'
(1) a1afa =7 (2) Hfesm=
(3) #4935 (4) had =G+

14. Which of the following is the only anasti-kava substance according to

Jainism ?
(1) dharma (2) adharma

(3) kala (4)  jiva

SR & ST wAfafEad § RE-ar TR dqiEEm 25 6 ¢
(1) =% (2) 378
(3) e (4) A1=F

15. Which of the following is a branch of Mahiyana Buddhism ?
{1) Sthaviravida (2) Miadhvamika
(3) Vaibhasika (4) Sautrintika

ST ° -1 98 dieesid & oEr £ ¢

(1) ¥=feaEnms (2) HIFAHS
(3) g (4) HrETTE



16.

17.

18.

18P/236/24(i)

Which of the following system of philosophy believes that reality is
everchanging ?

(1) Sankhya [2) Nyaya

(3) Buddhism (4) Advaita Vedanta

seffafea & @r-a1 aefH | @ gaq aRadsi| qear € 7

(1) dE= 2) =E

(3) g (4) oT29 dard

Whose dialogue with Greek king Milinda is illustrated in the 'Milinda-
panho’ ?

(1) Asvatthama (2} Nagasena

(3) Buddha (4) Mahavira

‘Tafers asEr # e T fafers & Ay fras dar Fefug 2 7
(1) ST (2) AFTEA

(3) g= (4) HEHER

An ideal penson according to Buddhism is :

(1) Arhat (2) Jina

(3} Sthitaprajna (4) Kevali

drg 29 % TgER sTEst AP €

(1) 9T&d (2) B

(3) Rerdaust (4) Fa

9 P.T.O.
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19. The 'Noble eight - fold path' of Buddhism is contained in :
(1} The First Noble Truth (2) The Second Noble Truth
(3} The Third Noble Truth (4] The Fourth Noble Truth
drz 299 # ‘eTd er=IfeTE Al oy €
(1) wom AHEH & (2) fadm aras &
(3) g JdEE B (4) =gy sEEE &

20. Which of the following aggregates is matcrial according to Buddhism ?
(1} Rapa (2) Vedana
(3) Sanjna (4) Vynana
drz g9 & STEN SAfEEd § Ae-a e il s B 7
(1) =9 (2) e
(3) H (4) fasm=

21. Which of the following is also known as Arambhavada ?
{1} Vivartavada (2) Prakrti- parinamavada

(3} Asatkarvavada (4) Brahma-parinamavada

el & & sreswaE & 9™ § 01 A= A © 7

(1) fedare (2) SFfa-aiemHaE
(3) HATEHEAE (4) FEH-gIoTHATE

10



22,

23,

24,

18P/236/24(i)

Who is the founder of Vaisesika System ?
(1} Gautam (2) Ramanuja

(3) Kanada (4) Vatsyayana

I st F uawid FF & 7

(1) A (2) THSA
(3) hoTs (4) 4Qro=ETEIA

Which of the following is atomic according to vaisesika ?
(1) Mind (2) Ether

(3] Space (4) Time

A9 aele & agEe wdfafeg # § #i9 ooy 8 7

(1) #HH (2) HATHIRT

(3) = (4) A

What kind of relation is admitted by the vaisesikas between substance

and action ?

(1) Conjunction
(2) Inherence
(3] Identity

(4) Both conjunction and inherence

11 P.T.O.
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22 UG % F 79 [6H UL & G99 999F =HiEm &g 2 7

=

(1) @I/ (2) Y4
(3) drEEa (4) M od JHATT S

25, The vaisesika system admits the category of particularitv (visesa) :

(1) to distunguish one chair from another chair

(2) to distinguish one mind from another mind

(3} 1o distineuish a car frimm other cors

(4) to distinguish different material objects

J9NU =9 A Ta9d’ 7= F = FA E

(1) u® &d & 2990 |dl 9 97 %7 5 9

(2) UF W9 H ZHL A9 H HE I & o

(3) U= HiZT H] 3 =24 4 He H &

26. Which of the following absence (abhava) has an end ?
(1) Pragabhava (2) Dhvamsabhava
(3) Anyvonyabhava (4) Atvantabhava

-

AN H MR H99 @ A gl 8 7
(1) ST (2)  =FHTITT

(3)  AITHE (4) AEHIHE

12
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27. Nvaya System of Gautama is also known as :

28,

29,

(1)  Anviksiki (2) Aulika darsana

(3) Vivasana Samaya (4) Lokayata

dey # =g egfH # 3| AW & off S S @

(1) oTTiIiarent (2) ofigen aeie
(3) frags €99 (4) BT

Which one of the following is mot a kind of Alaukika Pratyaksa
according to Nyaya philosophy ?

(1) Samanvalaksana pratyaksa (2] Svalaksana pratyaksa

(3) Jnanalaksana pratyaksa (4) Yogaja pratyaksa

g 39 & S ST § -8 Uh STellfhh T H TH
TR 7

(1) ATATY THOT Yedel (2) TITEOT S

(3) ST Tedef (4) TS UcAE

What kind of inference is this - 'All knowable objects are nameable

and the pot is a knowable object; therefore the pot is nameable’.
(1] kevalanvayi (2) kevala-vyatireki

(3]  Anvava - vvatireki (4) Asiddha

13 ' P.T.O.
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30.

31.

32.

b oHT g ¥ s ae gy aﬁ:ﬂf-&ﬁﬁs&a%’aﬁ:ﬂqmﬁ
fhd U7 1 & 7

(1) FHaam=ig (2)  haeieAiaiis
(3] ST ag-ATIF (4) ST

Which system of philosophy advocates the extrinsic validity of

knowledge ?
(1] Mimamsa (2)  Advaita Vedanta
3)  Sankhva (4)  Nyava

AT AT ] 5 ?.'Ifﬁ I Tef By & 4
(1 T (2) S1Ed JFT
(5} e (4) =g

Which one of the following pairs is consistent ?
(1) Nyaya - Satkhvativada (2) Ramanuja - Atmakhvativada
(3} Kumarila - Asatkhvativada (4] Prabhakara - Akhvativada

Frefefas g § 3 Fre-m vg w0 &7

(1) == - AeAfaarE (2) THES - moTEiHarE
(3) M - sTHeTfaarE (4) 99T - 3Eiaars

God according to Nyava philosophy is :

(1) Material cause of the world

(2) Efficient cause of the world

(3) Both material and efficient cause of the world
{

4) Neither material nor efficient cause of the world

14



33.

34.

18P/236/24(i)

= 29 HATER T9aT

(1) SET &1 JUEH HY 8

(2) I & A Heer B

(3) G N IR den e wRer dEF 8

(4) I o ST & IUEM HROT & AR 7 FfEE SR

Which one of the following is "nistraigunya" according to sankhya
philosophy ?
(1) Purusa (2) Ahamkara

(3) Buddhi (4) Mahabhita
A= 39 & AYER FEfafEa § § Feeg @ R 2
(1) I&9 (2) STEHIT

(3) gh& (4) HeETHd

The first product of evolution according to Saikhya Philosophy is :
(1) Purusa (2) Prakrti

(3) Mahat (4) Tan-matras

A &9 % STIER gite - %9 ¥ |ayay anfasd o @

(1) 959 (2) wfar
(3) "eqg (4) T=E=T

15 P.T.O.
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35.

Which one of the following 1s only the cause and not the eifect
according to Saikhya Philosophy ?

(1) Prakrti (2) Mahat

(3}  Ahankara (4) Manas

A 284 % TR F=ifefaa § $-a1 o $ae w5 B, #1529
7

.

(1) SpIeT (2) Hed
(3) 3TEHIT (4) T

-

36. The prakrti, according to Sankhva philosophy is :

37.

(1)  Active and conscious
(2} Inactive and unconseious
(3) Active and Unconseions

(4} Inactive and conselous

ditea 299 & STE Ui

(1) m“ﬂaﬂ?% (2) Fferg od a9aT
(3) @R UE ST (4) ™iepa ud =q9 @

Which one of the following is not correct about the Yoga conception
of God ?

(1) God 1s eternally free
(2) He is the first teacher of the veda
(3) He is creator of this world

(4] He is a special kind of Purusa

16



38.

39.

40.

18P/236/24(i)

AqET J§ § HA-91 UF I g2 @9 deav Fi sguren & fawm
H el el g 7

(1) 2sa¥ €39 & ©

(2) a8 9% @ 9Y9 IUI=T ©

(3) & S W FA ®

(4) 98 g&9 - fagw 2

The yoga propounded by Pataijali is also known as :
(1) Karmayoga (2] Rajayoga
(3] Bhaktiyoga {4) Nidra yoga

TSR BT UEgd ar 6 AW & st AE A g o

(1) =H 4 (2) TSN

(3) iR (4) Foeman

Which one of the following is an internal instrument to Yoga ?
(1) Yama (2) Asana

(3) Niyama (4) Dhyana

A § F HF-97 OF AT & ST e € 7

(1) 99 (2) ITEA

(3) FEm (4) e

Clinging to life and instinctive fear of death 1s known in Yoga
Philosophy as :

1)  Abhinivesa (2) Avidva

(3] Raga (4} Asmita

17 P.T.O.
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41.

42,

AR & HYEE SEd @l AHEled ot g & @raidsd Wd
HEdrdl ©

(1) AfafTET (2) FfeET

(3) I (4) T

Anupalabdhi is admitted as an independent source of knowledge by
{1} Prabhikara (2) Kumarila
(3} Kapila (4) Gautama

TF TS OAT F A H Ui B Wme v ¥ o

(1} H¥rHT (2] q___,_:q”ﬁ
(3} AT (4) A

The authority of the veda according to Parva Mimamsa is infallible
because !

(1} God has created them

(2] God has revealed them

(3] Thev are created by omniscicnt sages

(4) Thev are eternal and authorless

T & AFAT dF A1 DR e B o
(1) Z9a7 -1 3% 7941 FI ©

(2) 2997 H 3% W fhar &

(3) wEs F| Ul A ST =T F OB

(4) @ e i omdEsd €

18



43.

44,

45.

18P/236/24(i)

The Advaita Vedanta theory of error is called :

(1) Satkhyativida (2) Anirvacaniyakhyativada
(3) Atmakhyativada (4) Asatkhyativada

1A e H FH-FHETT FHer o B

(1) \eeAiar (2) errdaaeEnteas

(3) oTHEATES (4) FrEAER

'Fat Devadatta does not eat during the day, therefore he must be
eating during night. This is an illustration of :

(1} Upamina (2) Anupalabdhi

(3] Arthapatti (4) Pratyaksa

‘a1 39e a9 § el @, o79: 98 o799y 7g d e 2 - I8
JEETT B

(1) J99TH T (2) STgucfesr &

(3) FgtafaT @1 (4) UTET I

What, according to Sankara, is the final means of release ?
(1} Knowledge (2) Devotion
(3) Action (4) Grace of God

QT H TTAR el H AT AYT F 8 7
(1) & (2) «feFT

(3) A (4) ST

19 P.T.O.
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46. Ramanuja's commentary on the Brahma-sutra is known as :

47,

48,

(1) Sariraka-bhisya (2) Sri Bhasya

(3}  Anu-bhasya (4} Vedanta parijata
TATST 8T dgH-H3 97 &7 @1 919 Haald E4

(1) TR = (2) =fTes

(3)  3ITI-HH (4) dar JifEa

Who among the following is a dualist ?

(1) Sankara (2) Ramanuja
(3) Madhva {4) Vallabha
FNfafaa § FHia a9 7

(1) 9FRT (2) TETIA

(3) He (4) aETd

The relation of cit (souls} and acit {matter) with God is called, in the
svstem of Visistadvairt ;

(1) Samavaya (2) Samyoga

(3] Tadatmya (4) Aprthak-siddhi

fafererza 7a & oo fag wd offaq &1 gvAY & WY wEw
FEAT &

(1) FHa™E (2) HI

(3) R (4) TguE - fafs

20
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50.

51.
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What according to Sri Aurobindo is an intermediate principle between
Absolute and the world ?

(1} Supermind (2) Mind

(3) Sacchidananda (4) Matter

fiofa= & FATAR T A G B T B B HT© 7
(1) 3faa= (2) w1

(3) HFERT= (4) <1 g

Who among the following is the founder of Brahma-Samaja ?

(1) Vivekananda (2) Dayananda Saraswati

(3) Ram Mohan Roy (4) Keshav Chandra Sen

HAgIfaEad d§ A F8H-GHTS B GEINE © 7
(1) fads—= (2) TAM Gl
(3) 9 Higd 1™ (4) HIF TFE T©H

Which one of the following pairs is inconsistent ?

(1) Dayananda Saraswati - Aryasamaja

(2}  Sr1 Aurobindo - Prarthana Samaja

(3) M.K. Gandhi - Sarvodaya

(4) Annie Besant - Theosophical Society
ANfAfEd § HA-91 0F gH FTETT © 7

(1} FgF= FIEd - IEHATA

(2) fterfars - YT "HTS

(3) UH.FH. TR - FaEd

4] T EER - PETEiET ATEEe

21 P.T.0.
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52. The concept of 'Logic of the Infinite’ is associated with :

83,

54.

(1) 8. Radhakrishnan (2) Vivekananda

(3) Sri Aurobindo (4) Balagangadhar Tilak

(1) UH. qNMFEH A (2) EdEm= 9
(3) disia= 9 (4)  F& TMEL daE 4

Which anc of the [ollowing pairs is inconsistent 2
(1} Tagore - Sidhana

(2)  Sri Aurobindo The life Divine

1

(3) Balagangadhar Tilak Gitarahasva

(4)  S. Radhakrishnan Savitri

FAYfaiad o HE-T1 TF 0 FET & 7

(1) EXIIES N ]

(2y  Aravig= T WEE A
(3) AT TWMET faeE - WEE

(4) ©H. TR SSLEE]

How many grades of theoretic consciousness are admitied by K.

Bhattacharya ?
(1} Two (2) Three

(3) Four (4] Six

22
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56.

S7.
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%oﬁo@ﬁ%wm%ﬁmﬁmnﬁ%?

(1) ar (2)

(3) =X (4) ®

Dr. B.R. Ambedkar was in favour of :

(1) Jainism (2) Buddhism

(3) Hinduism (4) Islam

2fo d1.37¢. ST U | o ¢

(1) o9 99 & 2) 9= 4 &

(3) feg ad & 4) T gd B

Which one of the following is truly Dr. B.R. Ambedkar's view ?

(1) Jati - vyavastha is correct, vama — vyavastha is wrong
(2) Both Jiti-vyavastha and Vama vyavastha are wrong
(3) Jati - Vyavastha is wrong, vama- vyavastha is correct
(4) Both- Jati- vyavastha and varna vyavastha are correct.

gﬁ?ﬁﬁ%ﬁTfTEﬁﬂuﬁn F Efo Hlo Mo FESHT H AAEAE Hd
[u. Sfe-araeer &% B, aui-gaer aid @

(2) Sfr-zrEEen i aof ogaen A & @ B

(3) T SeEEn @IE €, aU-Hda 3% 2 |

(4) TfT-eeen T avf - sHawr I & & 2

The philosophy of Vivekananda is know as :
(1) Practical Vedanta (2) Practical Yoga

(3) Ekatma Yoga (4) Bhakt Yoga

frame= & g9 & S e © o

(1) =AEel® Jard (2) e AR
(3) TEHRH TR (4) ferr A

23 P.T.O.
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58. M.K. Gandhi's final definition of God was :

59.

60.

(1)  God is light (2) God is Bliss

(3) Truthis God (4) God is a person

€997 & g H THo Fo W F s greamy o
(1) 997 WFlaT (2) 2gET = B

(3) HH g9a7 (4) 29aY7 U AfFT B

Mohammad Igbal is :
(1} an atheist (2) a pantheist
(3] a poly theist (4) & monotheist

oo,

HeH 2 ghdi &

(1) 3TeIeaard] (2) HAd9gvard
(3) AAHITIEE (4) TEHIATATEI

Which one of the following statements would be acceptable o MUK,

Gandhi ?

(1) Donation of moneyv earned by stealing is right

(2}  Drinking wine by taking loan is right

{3) Not only the end but also the means of every action should be

pure

(4) End justifies the means

24



61.

62.
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HfARET # HH-H1 U FUT THo Ho Tl Y w&w g ?
(1) IR FT FAE T8 a9 FH g I 8

(2) A TR HEUAH Ife B

(3) UEE HE F A Had G1eF aT @99 Al gE e Amed |
(4) drem € G @ ot fow war @

Propositions are :

(1) always true (2) always false

(3) either true or false (4) neither true or false
dedre Bld €

(1) &3 T3 (2) HEF TFH

(3) @G a7 ITEH (4) & €, 7 JTEA

What would be the quality of any categorical proposition whose

predicate term 1s distributed ?
(1) Affirmative (2) Negative

(3) Indefinte (4) Universal

fsre Freuites deare &1 @99 92 =ra ¥, SH 07 #491 R 7
(1) faeamas (2) FoaeTs

(3) A=TIET (4) "dAT
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63. A standard form categorical proposition whaose both suhiect and

64.

predicate terms are undistributed is :
(1) A proposition (2) E proposition
(3) 1 proposition (4) O proposition

g qFE-oTE Euiie afaed & S3e9d Ud FEg N U
e B, 98 B

(1) A TharH (2) E @Fard
(3) 1 Tehar (4) O dhard

'Some philosophers are not scientists' is an example of :
(1) Universal affirmative proposition

(2) Universal negative proposition

(3} Particular affirmative proposition

(4) Particular negative proposition

e aneifen et T8 R FE ST €
(1) el fqeamers ahar &
(2) T FRuaeTE gEdaE @
(3) SfvrEmdl feaeTs qhaed
(4) Sgrardt fduameTs awmarEd &
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66.

67.

18P/236/24(i)

If two propositions are such that they cannot both be true and they
cannot both be false then they are :
(1) Contradictories (2) Contraries

(3] Sub contraries (4) Superaltern - subaltern

A% & aeardg UF & 5 3 39 7 O us 9y g9 8@ 9% T |
U | A & b, Ol d © ¢

(1) =3t (2) fRada

3) &= (4) IIEF - IAIEHT

The contrary of 'All S is P' would be :

(1) SomePis S (2) NoSisP

(3) SomeSisP (4) Some S is not P
|l 3 [ & w fQuda g o

(1) sB Az (2) HE 3 St &
@) B3 faE (4) T 3 fa =t ¥
The converse of ' No Sis P'is:

(1) NoPis$§ (2) SomecPis s

(3) SomeSisP (4) Some S is not P

‘Brg 3 g 7€ & aRafda a2 -
(1) =1 fa 3 =& & 2 IwAIE
3) B I A& 4) #B I A T8 &
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68. The obverse of 'Some students are voters' 1s :
(1) All students are non voters
(2) No students are non voters

(3) Some students are non voters

(4) Some students are not non voters

(1) @i B HaaEn © (2) I B THAEET T8l &
(3) %O BIF TG ¢ (4) FHS BF A TG T

69. The correct symbolization of 'Some S is not P' would be :

(1) sp=0 (2) SP=0
(3] SP =z 0 (4) sp =0
‘e 3 fg 72 & w1 GE uydmTs =9 e
(1) sf@=o0 2) 3 =0
3) 3@ 20 4 I & .0

70. What is mood and figure of the categonical syllogism 'some soldiers
are cowards, and no heroes are cowards, therefore some soldiers are

not heroes'

frfofas fFede =g @ daeen ST Al #4918 ¢

‘B Bfers FET B € ST HIE T HET TE eldl, o1 8 A
(1) IEOQ-2 2) EIO-2

3) IEO-3 4) EIO-4
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72.

73.

18P/236/24(i)

What would be the figure of the categorieal syllogism in which the

middle term is subject term in both premisses ?
(1) First figure (2) Second figure
(3) Third figure (4} Fourth figure

e FHeuer ~rgar™ | 7ed gg 291 8 ST ardl # 39399 18
8, IH TFfa Fr Bl ?

(1) 92\ 3 (2) facfim amepfa

(3) T sapf (4) wgd s

[f the major premise of a valid categorical syllogism in fourth figure is

affirmative, the minor peremise must be :

(1) Universal (2] Particular

(3) Affirmative (4) Negative

I8 Fter AT 1 agel i | aft ge snyRar e
& SYE YR g 31deg @

(1) @e=ndr & (2) <FerTdr B

=,
o

(3) faearegs (4) Frvemers 2

Which one of the following is a valid mood of a categorical syllogism in

the third figure ?

=i o & shi--41 U st Fde <rEaer # gdig sl
Hag g ?

(1) AAA (2) 1O

(3) OAO (4) 10A
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74. Name the fallacy committed by the categorical svllogism which

75.

76.

contains exactly three terms, each of which is distributed in both of
its occurrences :
(1) Exclusive Premisses (2) Hheit Minor

(3) Undistributed Middle (4) Ilhcit Major

39 MOy =Earg ® g 09 a@arg & 919 gaid e 2 a1
oz Bf 3T 9 ug 74 S gEnt ° & B

(1) U T ard (2) AFTAmE sy O
(3) 37T HHH T3 (4) HfEET =T T

Which one of the following svllogistic moods is valid in all the four
figures ?

Fr=iferfia & & $9-31 OF =qEare i s /el | il
Ay e Y

(1) TEO 2) AOO

(3) AAA 4) EI10O

Which one of the following is contradictory ?

Fr=fafiag o #i9-91 % ==JHEE & 7
1) parep (2) pop
(8] = lpeeep) 4 ~(pv-p)
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77. Which one of the following is logically equivalent to '‘poq' ?

78.

79,

80.

fFr=fafaa # #9-31 OF poq F afed @7 8 7
() ~(p.~9g () p.~q

(3) pvag 4 aop

Which of the following is a correct representation of the principle of

Identity ?

-

Faferad § &1 disred & M99 & §ef &9 fiar g 7

(1) pvp 2) pop

B) p>gq (4) p.~p

Name the rule of replacement stated by '(p 5q) = (~ g5 ~ p)'
(1) commutation (2) Double Negation

(3) Transposition (4) Exportation

0 >q = (~q> ~p) TT NFR gAeaiT & Fzw 1 99 F93
(1) fafram (2) faem e
(3) TR0 (4) afeTHa

What does the symbol (x) signify ?
(1) Individual quantifier (2) Universal quantifier

(3} Particular quantifier (4) Conjunction
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TeiER (x) fEFEERT d@3d e 2 7

(1) =aises afmoE &5 (2] @EdH giEeE @
(3) faery g = (4) HUIAT T

81. Who among the following belongs to Milesian school 7
(1} Anaximander (2) Pvthagoras

(3) Socrates (4] Protagoras

Fr=fafEd § 9 9 geaiess oq § dg9fag & 7
(1) udfFTH=T (2) 9T
(3} FHIA (4)  AEITH

82. 'The sole reality is Being and becoming is unreal’. Who propounded
this philosophy ?
(1) Thales (2) Heracleitus
(3) Parmenides (4) Gorgias
‘UHHE d ‘g’ @ SR 9i7Ede o9 8- 39 avid A g
e fepan 7

(1) &= (2) EvTEFEeH
(3) ATHATEE (4} FIFTEH

83. Who gave the argument that Achilles will never catch up the tortoise,

if the tortoise is given a start ?
(1) Empedocles (2) Zeno

(3) Abelard (4} Bacon
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85.

18P/236/24(i)

TERITST 4T YT B &N The Foh, AfX FGI ITH BN w g
gl- ¥ a% fFas Rar ?

(1) TSRS (2) AT
(3) waEE (4) @

What according to Heraclitus is the ultimate principle of the universe ?

(1) Water (2) Air

(3) Atom (4) Fire
eUEIIgEd & STHER S & 9IH awd 4§ 7
(1) o¥T (2) a9

(3) 9] (4) 37

Socrates admits that :

(1) All knowledge is through concepts
(2)  All knowledge is through perception
(3) lgnorance is virtue

(4) Knowledge is vice

BTl "Ear &

(1) 941 59 T IeTh Bl ©
(2) @ S Uee &N BT &
(3) SEN T B

(4) ST 9T E
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86. Who among the following is the exponent of objective idealism ?

87.

88,

(1) Kant (2) Plato

(3) Hegel (4) Bradley

sreifefea § 4 ®iF awgfre yemars & ofaaes § o7

(1) =re (2) =il

(3) = (4) =

Who among the following is known as the father of Deductive Logic ?
(1) Descartes (2) Thales

(3) Aristotle (4) J.S. Mill

AANARTT § 9 FAAEs 7% B o =Y § A A 27
(1) e (2) Sl

(3) oTCE] (4) H.ud. =

Which one of the following is true about Aristotle's conception of God ?
(1} God 1s all merciful

(2) God is the monad of monads

(3) God is only efficient cause of the world

(4) God is the unmoved mover

STenffad | FIT-T1 Uh SRE] #1 $997 F G & A § He
s 7

(1) g99¢ wH &91 &

(2) ZeaX et & foev @

(3) E9aT ST HN Paw T HEOT &
(4) Feav orenferd yadsd B
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89. Who among the following is known as ‘the complete Greek' ?

90.

91.

(1) Plato (2]  Aristotle

(3] Socrates (4} Democritus

Aqfefad § &9 ol i & = F Sy oy &7

(1) wie (2) TG

(3) FHd (4) TSHIFRTH

Which one of the following is not included in Aristotle's conception of
Form' ?

(1) Efficient cause (2)  Material cause

(3) Formal cause (4) Final cause

ST § BH-61 OF e # @I # g B sty
TE T 7

(1) fafEe oo (2) JUEM FHIToq

(3) &I FHEOT (4) T FHILOT

Who among the following holds that the world is a Divine Machine' ?

(1} Locke (2) Berkeley

(3) Descartes (4) Leilenitz

Fr=ifeifad & & &9 wmar & 5 g os S wsfe B2
(1) % (2) FFHaA

(3) (4) <SS
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92. Descartes famous aphorism 'I think, therefore 1 am’ results from his :

(1) Dualism (2) Method of doubt
(3] Trustin supremacy of God (4] Inductive method

Yo i g “F A €, gata # 27, wfawien ©
(1) 39% &aar= H

(2) dera fafr 4

(3) FeaT #F wAled "o H Sl |

(4) smETHE &ty |

93. Which one of the following is ‘Absolute Substance according to
Descartes ?

(1) Thinking substance (2} Extended substance
(3) God 41 Monad

i
-'..LI'I

Sefatiag § § S9-91 OF 3@ & g U

(1) =d9 &4 (2) fawga ==
(3] Z9Ev (4) fergmg
94, 'Every determination is negation’, is a famous maxim of ;
(1) Hegel (2) Locke
(3) Hune (4] Spinoza

‘qeyE Bygiver fOae & @¢ ofas s asd &

(1] 2 =0 (2) TR =
(3) &gH Al (4) Foorsn =

95. The method followed by Spinoza is :
(1] Deductive (2) Inductive

(3) Intuitive (4) Descriptive
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96.

97.

98.

18P/236/24(i)

s 2 AgERT gEfa o

(1) TAHARHS (2) SATTHATHAS
(3) 3 ISHE (4) FUETHS

The monads of Leibnitz are :
(1] imagining points (2) metaphysical points

(3) physical points (4) mathematical points

AEaeT & fue €

-,

(1) FHEE g (2) TeHAmEE fg
(3] WA @3 (4) T faeg

Which law of thought was proposed by Leibnitz ?
(1) Law of identity (2} Law of contradiction

(3) Law of sufficient reason (4} Law of excluded middle

fam & &g o9 &1 gwaas aEdet g 7
(1) aEEE @ e (2) =M w e

(3) UG LT @ I (4) #== 9ive @ FEm

Who among the following is known as the 'Spiritual child of Plato ?

(1) Berkeley (2) Aristotle

(3) Descartes . (4) Locke
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99,

Rrefafad & #F @@ & AFE-g & BT § A A4 7

(1) @hel (2) IE
(3) = (4) dfF

Who propounded the doctrine that God is both Natura- naturata and
natura — naturans ?

(1} Bacon (2) Berkley
(3) Spinoza (4) Hume

ﬁ?ﬂﬁwmmnﬁﬂmﬁﬁmﬁéﬂa{ﬁrﬁﬁqmﬁawwﬁ
77

(1) & (2) e
(3) o (4) &YH

100. Which philosopher has solved the problem of mind bodyv relation with

the help of pre-established Harmony ?

(1) Descartes (2) Spinoza

(3} Leibritz (4) Locke

rg e 3 gdvenfua @S & FEm S 23 3R e A
YT BT gETenA fhar g 7

(1) 3% (2) o=t

(3) aEAe (4) I

101. Which one of the following statements correctly presents Kant's view ?

(1) Empiricism is totally wrong
(2) Empiricism is fullyv right
(3) Rationalism is totally wrong

(4) Both empiricism and rationalism are right in what they affirm,

but worng in what theyv deny.
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Saifdiad § # HT-91 OF I F0E B 99 H HE 2§ R
AT 8 7

(4) FgHEarE R ghear aFl & rasr anes & € 98 9 &,
ffreg foreenl @ T & 98 Ted @ |

102.Whow propounded the doctrine 'Esse est percipi ?
(1} Kant (2) Leibnitz

(3} Berkley (4) G.E. Moore

Heell AYHd g o foEa o afadies e R v

(1) =Hve F (2) wmEgteT A
3) FFE R (4) Sfogo T 4

103.Which one of the following is a secondary quality according to Locke ?
(1) Extension (2) Figure

(3) Motion (4) Sound

Al 6 FGER Fr=fefad § wF-81 oF Iuer & 7
(1) faeame (2) SR

(3) i (4) 9=
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104.Who held the view that mind is a "tabula rasa’ ?
(1} Descates {2) Spilnoza

(3} Locke (4] Kant

(1) 2 (2) T
(3] ® (4) oL

105.Which one of the following pairs is consistent ?
(1) Hume - sceptic
(2] Deseartes — Monadologist
(3) Spinoza - Dualist

(4] Berkeley — Rationalist

srefiferfad & #9-91 0% g 9eT § 7
(1) g9 - @=edr]

(2) E® - FEEeEr
(3) oA - Edard
(4) G - ghaard

106.The concept of ‘category mistake’ is associated with :
(1] G.E. Moore (2) A.J. Aver

(3) Willlam James (4) Gilbert Ryvle
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(1) Sflogo X (2) U3, Ug%
(3) fafEEg Sy 4) fie=ge w=a

107.Who among the following is known for his Radical Empiricism ?

(1} William James (2) Henry Bergson

(3} A.J. Ayer (4) A. N. Whitehead

(1) fafe=s s (2) B g

(3) T.5. UIw (4) U. TA. garsces
108.The concept of 'Language game' 1s associated with ?

(1) A.J. Ayer (2) Wittegenstein

(3) William Paley (4) C.5. Peirce

‘Tl @’ @ FEEen e g g7

(1) T.9. T3x (2) fren=<N

(3} fafsam 9= (4) diug. gd

109.Hume accepts :

(1) Self
(2) God
(3) Matter

(4) Psychological explanation of causality
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(1) HATHAT Bl
(2) 29a7
(3) TEEA Fl
(4) IO I AEIAE ST

110.Who among the following is known for his theory of Falsification ?

(1) Karl Popper (2) A.J. Aver
(3) Schiller {4y John Dewey

[ =

(1) ¥ 99T (2) ©.at. Oohy
(3) faree (4) I g

111. Theory of Description” is associated with :
(1) C.S. Peirce (2) F.H. Bradley

(3) S. Butler (4) Bestrand Russell

Taareor-faara’ & T 8
(1) 1. uHg. 9 (2) UF. T, =W
(3) TH. gedy (4} A2z THA

112.Who among the following supports the proagmatic theory of truth 2

(1) F.H. Bradley (2) William James
(3) John Locke (4} Sartre
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srenfafEa § e 9 F uaeEeE e @ aueds g 7
(1) ©%. o= 5= (2) faferam Spw

(3) 9 @i (4) &

113.According to A.J. Ayer Philosophy is :
(1) analysis of propositions/statements
(2) speculative
(3) inquiry about ultimate reality

(4) inquiry about laws of nature

TS, UAY & SN 39 ¥
(1) aareral /Hu=t a1 fagaor
(2) =TT

(3) A" & Bl @I

(4) wfa & Famt & @

114. G.E. Moore has claimed that he has refuted idealism by refuting the

thesis that :

(1) Existence precedes essence

(2) Existence is indefinable

(3) Existence consist in being perccivede

(4) Real is spiritual
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SE. qY e fFan 6 9uT srelifaiEa 9e @ @ued Sve gorTars
F1 @ved Y 29l , 9€ ©

(3) HEm Il &

(4) Hd omefeTE @

115.In proposing the method of Phenomenology Edmund Husserl was
influenced by :

(1] Descartes (2) kant

(3) Spinoza (4] Russell

'Cﬁ-‘-lnlﬁﬂlt:fliil Eﬁr q"r:trlé % Eﬂh‘!q o ﬁ TEHS %ﬂ%ﬂ T:-”_‘"_E -;?:- g

(1) @ | (2) wE H
(3) feaers A (4) o H
116. Who among the following pioneered the theorv of speech acts ?
(1) Heidegger (2) Wittgenstein
(3} J.L. Austin (4) R. Bacon
wiefifafaa & @ arp-faar fasra & 97 92 & ¢
(1) ®13STT (2) FagTE
(3)  S.Oe. A (4) AT, FEA

117.The principle of verification is expounded by
(1) Existentialism (2) Intuitionism

(3) Logical Positivism (4) Critical Realism
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fFee &M |e9e &1 e gfaafza & 2
(1) IIRacEEE (2) A= geEE
(3) BT S (4) ST TR

118, 'Science without religion is lame, Religion without science is blind' is
the famous statement of :
(1} Albert Einstein (2) David Hume

(3) William Paley (4) Butrand Russell

‘o g foE fase 97 & aqun Rse & e o sren ¥ - a3 R
(1) I STEEN (2) =fa= &gw

(3) fafemm 99 (4) s WA

119. Which one of the following pairs is inconsistent ?

(1) Christianity - New Testament
(2) Jainism - Anga

{3) Buddhism - Veda

(4) Islam -  Koran

HefSiad § & He-91 U g FEIT g 7
(1) aE o -~ g 2wrie (2) 59 ud - af
(3) @y gf - 3% (4) ZEAH - FIA
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120, Which one among the following holds that "God = World" ?
(1) Dualism (2] Deism
(3] Pantheism (4) Panen theism
frforag § B ar=aar & f6 ¢ gegv = Tgea 7
(1) Zqdarz H
(2) fafrcsazan
(3) Hdgawar &
(4) sfw=-fafaeEFsaaE #i
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ROUGH WORK
T &
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